CHAPTER 20

AN INTRODUCTION TO DECISION theory

	Exercise 20.1

Check your answers against those in the ANSWER section.

A bank is trying to decide whether to make a one-year loan of $100,000 to Sharkey Chevy. Past experience  has shown that one of three outcomes will occur if the loan is made:

1.     The loan is repaid plus the 10 percent interest without a problem.

2.     The customer, Sharkey Chevy in this case, has difficulty paying the loan. However, the bank is finally repaid with 10 percent interest, but collection fees cost the bank $2,000.

3.     The customer goes bankrupt and the bank only collects 70 percent of the amount loaned.

If the bank does not make the loan it can make eight percent interest for the year elsewhere. Historical records reveal the following probabilities for the various states of nature.

States of Nature
Probability


Repaid
0.85


Repaid with difficulty
0.10


Bankrupt
0.05



1.00

a.
Develop a payoff table.

b.
Determine the optimum act using the expected monetary value criterion.

c.
Compute the value of perfect information


	Exercise 20.2

Check your answers against those in the ANSWER section.

Using the bank loan problem in Exercise 1, develop an opportunity loss table and compute the expected opportunity loss for each decision alternative.
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